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1. Onuc HABYAJBHOI JMCIUTLIIHMA

Merta IIpakTHyHe BOJIOAIHHS iHO3€MHOI0 MOBOIO
KommerenTricts | 3K07 3maTHICTH CHIIKyBaTHCS 1HO3EMHOIO MOBOIO.
Pesynbrar P13 (ans cren. 073 «menemxmenT») CriiKyBaTucs B YCHIHM Ta TUCbMOBIH Gopmi
HaBYAHHS JIepKaBHOIO Ta IHO3EMHOI0 MOBaMH;

PO3 (mns crment. 281 «ITYA») YMITH yCHO Ta MMCHMOBO CIIJIKYBaTHCS 1HO3EMHOIO
MOBOIO.

ba3oBi 3HaHHA

VYci BuayM apTUKIIIB Ta 3aliIMEHHMKIB, MHO)KMHA IMEHHHKIB, CTYII€H] MTOPIBHSIHHS
MPUKMETHHKIB Ta MPUCITIBHUKIB, TUITH MTUTaHb, YaCOB1 ()OPMU aKTHBHOTO CTaHY,
IACUBHUU CTaH, HENIPsIMa MOBa

Ba3oBi BMiHHSA

1. Benennst Oecimy, JOTOBiAI 3 BHUKOPHUCTAHHSM HA3BaHWUX BUIIE JICKCHKO-
rpaMaTUYHUX SBUIII,

2. PosymiHHS Ta BiIbHE BUKOPUCTAHHS y MHCHMOBIM (opMi Ta Mija 4ac yCHOTO
CIIUJIKYBAaHHS CIIeLiaIbHOT JIEKCHKH YPOKiB 1,2 mociOHuKa.

Ba3oBi HaBuuKH

1. KopucTtyBaHHsI CIOBHUKaMH Ta JIOBIJIKOBOIO JIITEPATYPOIO;
2. IBuakuit mOmIyK y APyKOBaHMX JDKepenax Ta Mepexi Internet iHpopMmariii 3a
CHEIIbHICTIO Ta KPaiHO3HABUOTO XapaKTepy.

[ToB’s13an1
cuiutadycu

Inozemna moBa (I-VI cemectpu, VIII cemectp)

Ilonepeons
JUCILHUILTIHA

Hacmynna

KinpkicTh
roauH

[Tpaktuuni 3avsa1Ts ¢ VII cemM.-30;
Camocriiina po6ora crynentiB: VII cem.-30

2.1 IIporpama naByajabHol aucuuiutinu (VII cemectp)

KiabkicTh
Kox HazBa [KinbkicTh
AyIUTOP-HUX
Monyas MOAYJSH Ta TEMH V P roqun CPC
TOMH
Grammar: Articles, Numeral, Personal 2 2
Pronouns,Possessives pronouns
Text «What is production».-iepekias
Grammar:,Reflexive Pronouns, ,Demonstrative
Pronouns 2 2
Text « What is production»-tiepekas
3M-IT1 D P

Grammar: Interrogative Pronouns, Defining Pronouns
Text «Where do new products and services come 2 2
fromy - mepekmaz, nmepekas

/ToMalliHE YUTaHHS 2 2

Grammar: Negative Pronouns,Reciprocal 1 1
Pronouns,Quantitative Pronouns
Text «Operation controly-niepexian.




[TucemoBe TecTyBaHHs Ne 1 1
1
Grammar :Syntactical functions of Cardinal Numerals ) )
Text «Operation control» mepekas
Grammar: Comparative and Superlative Degrees of
Adjectives and Adverbs 2 2
Text «The impact of computers and robotics on
production»-nepexnan
Text «The impact of computers and robotics on
production»-nepexas 2 2
Grammar: verbs “to have”, “to be”
Grammar: Present, Past and Future Indefinite; when, if
Text «People and motivation in businessy.-nepexnan 2 2
Grammar: Present, Past and Future Continuous
Text «Historical perspectives on motivation».-repekia 2 2
Grammar: Present, Past and Future Perfect ) b
Text « Historical perspectives on motivation»- nepekas
SM-II2 G ammar: Perfect Continuous Tenses 1 1
Text « Contemporary views on motivation»- mepexiaz
JloOMaIHe YATaHHS 1 1
Grammar: Present in the Past ) )
Text «Contemporary views on motivation»- nepekas
Grammar: Sequence of tenses D) D)
Text «Key motivation techniques»- nepeknaj, nepexas
[T1nceMoBe TecTyBaHHS Ne 2 1 1
CemecTpoBa 3ajikoBa KOHTPOJIbHA poOoTa 1 1
PA3OM 30 30

Koncyabramii:

Buxknanau fuko Inona bopucisua, yetBep, 12:45 — 16:05 , ayn.615




2.2 CamocriiiHa po00Ta CTyIeHTAa Ta KOHTPOJIbHI 3aX01u

Kon 3aBaanns Ha CPC Ta KOHTPOJIBHI 3aX011 KinbkicTh Ne THakHA
Monysist Topun
SM-I11 > TliaroroBka /10 yCHOTO OMMUTYBaHHS }3 é'7
> IlucemoBe TecTyBaHHs 1(000B’s3K0BE) 2 4

> IligrotoBKa 70  TEPEBIPKH  JIOMAIIHBOTO

YUTaHHS
3M-112 > TliaroToBka A0 yCHOTO OMUTYBaHHS 111 213'14
5
> IlucemoBe TecTyBaHHs 2(000B’3KOBE) 1 12

> [linroToBKa [0 TEpPEBIPKH JIOMAIIHBOTO

YUTaHHA

ITinroToBKa 70 3aJ1iIKOBOi CEMECTPOBOI KOHTPOJIBHOI pOOOTH 1 15

PA3OM 30

Ouinreanna KOHmpoabHuX 3axo0ie oas 3M-I11

-- 1. a) ycHe onuTyBaHHs ( IepeKIIajl Ta IepeKas TeKCTiB) — 16 6aiB
MaKCHUMaJIbHO;
0) yCHe ONUTYBaHHs (JIOMaITHE YUTaHHA ) —4 0alli MAaKCUMAJILHO;
B) MUCHMOBI BripaBu — 10 6aJiiB MaKCUMaIbHO;
--2. [TucemoBe TectyBanHs Ne 1 — 50 GasniB MakcUMalIbHO (0OOB’SI3KOBE)

Ouinosanusa KOHMpPOaAbHUX 3aXx00i6 011 3M-I12

--1. a) ycHe onutyBaHHs (IepekiIaja Ta nepekas TeKcTiB) — 16 6ani
MaKCHUMAaJbHO;

0) yCcHe ONUTYBaHHsI (JIoMaITHE YUTaHHA) —4 0ald MaKCUMaJIbHO;

B) NUCHMOBI BripaBH — 10 OasliB MakCUMasbHO;
--2. ITucemoBe TectyBanHs Ne 2 — 50 GaniB MakcUMalIbHO (000B’SI3KOBE)

CemecTpoBa 3ai1ikoBa KOHTpOsbHA poboTa — 100 6aniB MakCHMaIbLHO
(000B’s13K0BA)




Cywma 0aniB, Kl OTpUMaB CTYACHT 3a JABOMa 3MiCTOBHUMH MOAYisiMu VII
cemecTpy, popMyIoTh KUTbKICHY OLIHKY (0an ycmimHocti). Pesynpratu
HOTOYHOTO KOHTPOJIIO 3aHOCSTHCS 10 IHTETPAIbHOI B1IOMOCTI.

CTyZneHT BBaXKAE€THCS JOMYIIEHUM O IiJCYMKOBOTO CEMECTPOBOIO
KOHTPOJIIO, SIKIIO BiH BHUKOHAB BCl BHUIM poOIT, mependadeHi poOoU0ro
HaBUYaJIbHOIO MPOrpaMor0 AUCLUHUILIIHY 1 HAOpaB 32 MOAYJIBHOIO CUCTEMOIO CyMYy
6amiB He MeHuie 50% BiJ MaKCUMaJIbHO MOXJIMBOL 32 IPAKTUYHY dYacTUHY (50
OauiB).

[TinCyMKOBUM KOHTPOJIEM 3HAaHb CTYACHTIB € 3aJiK.

CryaeHT oTpuMY€ 3ajiiK, KOJIM BIH Ma€ Ha OCTAHHIN JIEHb CEMECTpPY
IHTErpajbHy CyMy OalliB MOTOYHOI'O KOHTPOIIIO, TOCTaTHIO (60% Ta Ouiblie) s
OTPUMAaHHS MO3UTUBHOI OIiHKH (60 GamiB).

B sxocti ¢opMH TOTOYHOTO KOHTPOIIO MPAaKTUYHUX MOAYITIB — YCHE
OMUTYBaHHS, NMUCHMOBI BIpaBU, NMUCHMOBI TecTyBaHHA 1,2 (000B’si3k0Bi). B
AKOCTI  (OpMH  MIJCYMKOBOTO KOHTPOJIO CEMECTpoBa 3ajlikoBa poOoTa
(00oB’s13K0BA).

Axmo cyma OaniB, siky HaOpaB CTYIEHT 3a pe3y/ibraTaMy TECTyBaHb 1, 2,
MeHma 50 OajiB, BiH HE BBaXKAETHCS IOMYIICHUM JI0 CEMECTPOBOI 3aJiKOBO1
KOHTPOJIBHOI pOOOTH. Y IBOMY BHIIQJKy CTYACHT MAa€ MPaBO MiIBUIIUTH CYMY
OaTiB 3a paxyHOK HEOOOB’SI3KOBUX BHJIIB POOOTH, SIKI OIHIOIOTHCS HACTYITHUM
YUHOM:

1) PoGota 3 TekcTtamu

- yCHUU mepeKnan TekcTy -1 6a;

- mepekas TekcTy — 1 6air;

- COMCOK HE3HalOMHX CJIIB Ta BHUpa3iB 3 IMEPEKIaJOM YKpPaiHCHKOIO

MOBOIO — 1 Oain
- MHUCHbMOBE pe3toMe TeKCTy — 1 6an
VYcboro 3a OAMH TEKCT MaKCUMalbHO 4 Oanu.
3M- II1 wmictute 4 Ttexctu: ypok I tekctu A, B. C, D, 100610
MaKCHUMaJIbHa OIIHKA 3a TEKCTHA — 16 OaiB.
3M — II2 wmicture 4 tekctu: ypok II tekectm A, B, C, D, t0o0TO
MaKCHMallbHa OIliHKa 3a TeKCTH — 16 OatiB.
Yceworo 3a cemectp — 32 6anm.
2) TlucrmoBe BUKOHAHHS TpaMaTUYHHX BIIpaB — 1 Oa 3a KOXHY BIIPABY.
Hns 3M — 111 — 10 6amnis; g 3M — 112 - 10 Gamis.
Ycworo 3a cemectp MakcuMalbHO 20 6atiB.
3) 3aBagaHHs 3 JOMAIIHBOTO YATAHHS OLIHIOETHCS HACTYITHUM YUHOM:
1 Gan — mepekaj 3 aHNTCHKOI MOBU YKPATHCHKOIO;
1 6an — HasBHICTh CIIMCKY HE3HAWOMMX CJIIB Ta BUPA3iB y KUIBKOCTI HE
menme 100;




1 Ganm — KOpOTKE YCHE pEe3IOME€ 3MICTYy TEKCTY aHIIMCHKOI MOBOIO
o0csirom 7-8 peueHb;

1 6an — muCbMOBE Pe3IOMe AHTIIHCHKOI0 MOBOIO.

MakcumansHa o1iaka - 4 6anm mis 3M — I11 ta 4 6amu s 3M — 112,
T00TO 8 OaITiB 3a cemecTp.
O6csr crarti (abo aekinpkox ) — 20 Tuc. np. 3. 3a VII cemectp.

[HaTerpanbha ominka (B) mo gucuuiiini po3paxoByeThes 3a HOPMYII0r0
B =10,75 x O3 + 0,25 x O3KP,

ne O3 — kugbkicHa oImiHka (y BIJICOTKax BiJ MaKCHUMaJlbHO MOXJIHMBO1) 3a

3MiICTOBHUMH MOMYJISIMH;
O3KP - kinbkicHa oIiHKa (y BIJACOTKax BiJ MaKCHUMaJIbHO MOXKIIUBOT)

3aJIIKOBOT KOHTPOJILHOT POOOTH.

IlutanHs [0 3aX0AiB MOTOYHOI0 Ta MiJAICYMKOBOIO0 CeMeCTPOBOIO
KOHTPOJII0

[TucemoBi Tectu 10 3M-I11 — 3M-I12 cknamarorscs 3 30 nUTaHb KOXKHUM.
Koxkxna mpaBuiibHa BIJNOBiAb OIIHIOETHCS y 1,7 Oama s MHCHMOBOTO
tectyBanHs Nel Ta y 1,7 Oama  aimsg mHCHMOBOTO TecTyBaHHS Ne2.
MakcumanbHa o1finka — 50 6aJtiB 3a KOXKHY TECTOBY POOOTY.

CemecTtpoBa 3aj1ikoBa KOHTPOJIbHA POOOTA CKIAMAETHCS 3 25 TUTaHb.
KoxHa npaBuIbpHa BIATIOBIb OIIHIOETHCA Y 4 Oanu.

3.PexoMenaanii 10 caMOCTiiiHOI po0OTH CTYIEHTIB
3M-I11

ITix vac BUBYCHHS TEM IIBOTO MTPAKTUIHOTO MOYJIS CITi/T 3BEPHYTH OCOOTUBY
yBary Ha pi3He JECKCHYHE 3HAUCHHS Ta IEePEKIIaJl OTHAKOBHUX 3a (hOPMOIO
3aIMEHHUKIB.



Jliteparypa:
I --cT.;4- 8
4 --ct.1- 32.

IIuTanHs 15 caMonepeBipKU

1.After I’d ironed my shirt it looked ... than before.

A. creaseder B. more creased C. the most creased
2.1 think he was ... than brave.

A. more mad B. madder C. Most mad

3... my three brothers , Adam is the oldest.

A. From B. Due to C.Of

4.1t 1s not as quite a place ... it used to be.

A. like B. as C. less

5.1 checked the form ... carefully but didn’t notice the mistake.
A. most B. less C. The most

6.1t was the tallest tree ... the forest.

A. of B. from C.in

[IpaBuibHI1 BIAIOBIII
1-B; 2-A; 3-C; 4-B; 5-A; 6-C

3M-II2

[Tix yac BUBYCHHS TEM IILOTO MPAKTUIHOTO MOAYJIS HEOOX1THO 3armam’siTaTh
PI3HOMAaHITHI JIEKCUYHI Ta TpaMaTu4H1 (GopMU SISl BUPAKEHHS MTOPIBHSIHHS.

Jliteparypa:
1 --ct1.17-22;
2 --c1.32-71.

IMuranns 15 camonepeBipku

1. The price of the holiday includes all meals ... lunch.
A. except for B. without C. Except that



2. After the operation he could see nothing ... vague shadows.

A. apart from B. apart C. Except from
3. ... her novels and poems, she published a number of short stories.
A. Except for B. But for C. Besides
4. Idon’tcare ... the theatre much.
A. to B. for C. about
5. Stefan’s story agreed ... that of his son.
A. for B. To C. with
6. 1 was asked to talk ... my research.
A. on B. of C. to

[IpaBmibHI1 BIAIOBIII
1-A; 2-A; 3-C; 4-B; 5-C; 6-A

Bka3iBKH 3 MiAT0TOBKHA NUCHbMOBOTO IMepeKIaay

TekcT cycninbHO-MOMIITHYHOTO 3MICTY MOXKE CTOCYBAaTHCS Oyab-sIKOi
TeMU (TIONIITUKA, EKOHOMIKA, KyJIbTypa, MUCTEITBO, KpaiHO3HABCTBO Ta
1H.). Bin mae namiuyBatu npu6inuszHo 20 Thc. AP.3H. 3 Ta OyTH
MPEACTABICHUN Y BUIIISI/II KCEPOKOIii a00 PO3APYKIBKH 3
[aTepHeT-BUaaHHs. Jlo mepekiamy yKpaiHChKOK MOBOIO CIIiJT J0JaTH
CIIMCOK HE3HAMOMMX CJIIB Ta CJIOBOCTIONYYEHbB 3 IXHIM NEPEKIIAIOM Y
KUTbKOCTI HE MeHIIe 100 TeKCUYHUX OAMHUIb, Ta KOPOTKE PE3IOMeE
AHTITIICHKOIO MOBOIO.

4.1luTaHHs 10 3aX0AiB MOTOYHOI0, MIJICYMKOBOI'0
Ta CEMECTPOBOI0 KOHTPOJIKO

VYV nykkax — TNOCWIAHHS Ha JpKepena, Je MOXKHAa 3HalTh iHdopmalliio, Ta
BIINMOB1AHI cTOpiHKU. (lUB. po3ain 5).

4.1 TectoBi 3aB1aHHA 10 TecTyBaHHs y moxyJi 3M-II1

1. Supply “the” or “a” where it necessary (3, ¢.204-207):

a) watches have become very cheap and very attractive.
b) Most of watches you see today work on quartz.
¢) What has been the longest period of peace in history?



d) If you study history, you’ve got to read a lot.

e) We travelled by car around _ Europe last year.

f) I haven't been  Netherlands yet.

g) Brazil is the largest country of ~ South America.

h) I didn't goto  work yesterday.

1) Did you visit  Oxford Street?

7) When did you graduated from  Cambridge University?

2. Fill in the blanks with personal pronouns (3, ¢.236-237):
Model: I see a girl, I see her:

a) We know this boy, we know

b) I'm glad to meet both Tom and Ann, I'm glad to meet
c) Give me the book, give to me.
d) I didn't see Ann, I didn 't see
e) This task was given to you and to me, it was given to
f) This is our dog, we love ___ very much.

3. Fill in the blanks with missing possessive pronouns (3, ¢.238):

a) This is not key, it must be
b) Tell me, isn’t that girl-friend over there?
c) I see that he has lost pencil, perhaps you can lend him

d) No country is so beautiful as

e) He promised to take me his book, so I'll not take
f) I put on my coat and she putson

g) | have eaten all my chocolates. Have you eaten all

4. Complete these sentences using “ myself/yourself”, etc. (3, ¢.237):

a) It isn’t her fault. She really shouldn’t blame
b) Did you make the dress ?

c¢) The boy was lucky when he fell down the stairs. He didn’t hurt

d) Our new neighbours knocked at our door and introduced
e) The newcomers built the houses

f) You shouldn't blame | it was not your fault.

g) We must protect  from the cold.

5. Insert interrogative pronouns (3, c.238):

a) do we call this sea?
b) are your intentions for the holiday?
c) turn is it now?

10



d) is speaking?
e) is John? Is he an engineer?
f) bag is this? Yours or Simon’s?

6. Insert” every/each” or” either” (3, ¢.237):

a)  day he comes here, and time he asks me the same questions.

b) There was a huge building on side of the square, having a massive
arched gate.

c) There were huge buildings on side of the street and had rows of
balconies as its only decoration.

d) Which would you prefer, the Webster or the Oxford dictionary? - will
do. Thank you.
.) He shook hands and had a few minutes’ talk with of us.

7. Supply the appropriate pronoun out of those given in brackets (some,
any, no) (3, c.238):

a) You can find him time between six and nine.

b) He can answer question on the subject.

c) Can we have  milk?

d) Thereis  milk in that jug.

e) Have you  idea who could have borrowed your bicycle?
f) Are there __letters for me?

g) He lives _ where in France now.

8. Supply” anybody/anyone, nothing, anything, nobody/no one,
somebody/someone or something/somewhere/anywhere” (3, ¢.237):

a) Isthere in the basket? - No, it’s empty.
b) Can translate these sentences?

c)  I’ve prepared for dinner which you’ll like very much.
d) Do you live near Jim?

e) They slept in the park because they didn’t have to stay.
f)  can claim that some subjects aren't harder than others.

g) It is time you did about this subject.

h) Thereis _ in the basket. It is empty.

9. Use “there is (are)” construction in the necessary tense form (3, c.125-
128):

11



a) Look! their telephone number in the letter.

b) How many students in your group?
c¢) I was hungry but anything to eat.
d) somebody at the airport to meet you when you arrive tomorrow.

10. Supply the quantitative pronouns “much, many, a lot of, few, a few,
little, a little” (3, ¢.236 — 237):

a) Thereisnot  space in this flat.

b) There aren't portraits of Ch. Dickens.

¢) I must say you have books.

d) Thereare  who know about this.

e) Itis a difficult text. I've had to look up quite  words in the dictionary.
f) If you don't hurry we'll miss our train. There's  time to spare.

11. Choose the right forms in these sentences. In some cases both forms are
right (3, ¢.218-220):

a) Is the station much (further/farther)?

b) Your record is (worse/worst) than mine.

c) It’s the (Iess/lesser) of two evils.

d) She always wears the (last/latest) fashion.

e) Nick skates (good/well).

f) His (latest/last) words were: “The end.”

g) She is the (oldest/eldest) member of our family.

12. Complete these sentences using the correct form of the adjectives given
in the brackets (3, ¢.218 -220):

a) What is the building in your city? (large)

b) He was the singer of this year. (popular)
¢) Today your answer is _ than usually. (bad)
d) Whoisthe  student in your group? (good)
e) What are the days of your life? (happy)
f) His caris than mine. (good)

13. Fill in the blanks with the appropriate form of the verb “to be” (3, ¢.125
—126):

a) The crew rescued by our boat.

12



b) Her clothes  very fashionable.

c) No news good news.

d) Where my spectacles?

e) The phenomena unusual.

f) Mathematics difficult.

g) the data precise?

h) There a lot of sheep in the field

14. Give the interrogative and negative forms of the following sentences
(3,c. 125-127):
a) He has a lot of experience.
b) She has got long dark hair.
c¢) They had late supper tonight.
d) We have got a lot of problems now.

15. Fill in the blanks with the appropriate words:

a) THE CONVERSION PROCESS
To have something to sell, a business must 1) resources into goods
and services. The resources are materials, finances, people, and information. The
goods and services are varied and diverse, ranging from heavy manufacturing 2)
to fast food. The purpose of this conversion of resources into goods
and services is to provide utility to 3) customers. Utility is the ability of a good
or service to 4)satisfy a human need. Although there are four types of
utility-form, place, time, and possession operations management focuses
primarily on 5)form utility. Form utility is created by converting raw materials,
labor, and other resources into finished products. But how does the conversion
take place? How does Ford convert steel and glass, money from previous auto
sales and 6)stockholder’s investments, production workers and managers, and
economic and marketing forecasts into automobiles? How does Aetna Life and
Casualty convert office buildings, insurance premiums, actuaries, and mortality
tables into life7) insurance policies? They do so through the use of a conversion
process . As indicated by our Aetna Life and Casualty example, the conversion
process is not 8)limited to manufacturing products. The conversion process can
also be used to produce services.

A. satisfy  B.limited C.convert D. stockholder’'s E.equipment
F. customers G. form  H. insurance

13



b) PRODUCT EXTENSION AND REFINEMENT

When a brand-new product is first 1) , its sales are zero and slowly
2) from that point. If the product is 3) , annual sales increase
more and more rapidly until they reach some peak. Then, as time passes, annual
sales begin to decline, and they continue to decline until it is 4)
profitable to manufacture the product. If a firm sells only one product, when that
product 5) the end of its life cycle, the firm will die too. To 6) in
business, the firm must, at the very least find ways to refine or extend the 7)

capability of its product.

Each refinement or extension results in an essentially "new" product whose

sales make up for the declining sales of a product that was introduced 8)

A.reaches B. earlier @ C.nolonger D.stay E.marketed F.
want- satisfying G. successful  H. increase .

c) Inventory control is the process of managing 1) in such a way
as to minimize inventory 2) , including both holding costs and potential
stock-out costs. Today, computer systems are being used both to control
inventory levels and to 3) costs. Small firms use microcomputer-based
systems to keep track of inventories, provide periodic inventory reports, and
4) managers to impending stock-outs. In larger Firms, more complex
computer-based systems 5) inventories of thousands of individual
items, perform routine purchasing chores in accordance with a purchasing plan,
and 6) the production of finished goods.

One of the most 7) methods of inventory control used today is
materials requirements planning. Materials requirements planning (MRP) is a

8) system that integrates production planning and inventory control.

A. costs B.maintain  C. sophisticated D. inventories

E.record F.computerized G.alert H. schedule

4.2 TecToBi 3aBJaHHS 10 TecTyBaHHA y moay.Jai 3M-I12
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I.Put the verb in the 3-th person singular (3, ¢.126 — 127):

a) They wish to speak to you. (He)
b) They help their father. (She)

c) You watch too much TV. (He)

d) They worry too much. (She)

e) I always carry an umbrella. (She)

2. Make the following sentences negative (3, ¢.126 — 127):

a) The waiters do their work well.
b) The dog sleeps all day.

c) The students have new textbooks.
d) She tries to play tennis well.

3. Make the following sentences interrogative (3, ¢. 126 — 127):

a) His sons go to the local school.
b) They fish in the lake.

c) Elephants never forget.

d) The river freezes in winter.

e) She realizes the danger.

f) We sometimes miss the bus.

4. Use the Present Continuous in the following sentences (3, ¢. 128):

a) Don't rush me. | as fast as I can. (work)

b) What ? It looks awful. (drink)

c) He to catch his train. (hurry)

d) What time he tomorrow? (arrive)

e) She to lock the front door now. (try)

5. Put the verb in brackets into the Present Indefinite and the Future
Indefinite (3, c.125-127):

a) I (be) at home if you (need) anything.
b) He (wait) until they (send) for him.
¢) I (not know) when they (come) to see us.
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d) He can’t tell us when the motor (start).
e) I (phone) you if I (not forget).

6. Put the verb into the Present Continuous or the Past Continuous (3,
c.128- 129):

a) Please be quiet. I (try) to sleep.

b) Why you (look) at me like that? Am I green or something?
¢) Ann (wait) for me when I arrived.

d) It’s a good play, isn’tit? You (enjoy) it?

¢) You (watch) television when I phoned you?

7. Put the verb into the correct form, the Present Continuous or the

Present
Simple (3, c.125, 128):

a) These things (not belong) to my parents.
b) Look! He (come). I (want) to speak to him.
c¢) This stream (flow) to the lake at the bottom of the valley.
d) Today the river (flow) much faster than usual.
e) She (look for) a new flat at the moment.
f) A: What your husband (do)?
B: He’s a broker but he (not work) at the moment.

8.. Put the verb in brackets into the Past Indefinite or the Present Perfect
(3, c.126, 129-130):

a) I just (call) him.

b) I (not call) him yesterday, I was busy.

c¢) She already (answer) the letter.

d) She (answer) it on Tuesday.

e) My friends (go) away five minutes ago.

f) He (not smoke) for two weeks. He is trying to give it up.
g). When he (arrive)? - He (arrive) at 2.00.

h) You (have) breakfast yet? - Yes, I (have) it at 8.00.

9. Open the brackets using Present Perfect, Past Simple, Past Continuous ,
Past Perfect (3, c.126, 128, 130):

a) I just (to meet) him.
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b) Look! Sam (to bring) some cheese biscuits.

c¢) They (to dance) from six till ten o’clock.

d) We (not to see) each other before we (to come) to the place.

e) The meeting (to begin) before he (to come) to the place.

f) Yesterday we (to return) home late.

g) We (to understand) that she (not to see) us before.

h) At seven o’clock yesterday Cathy (to sleep) as she (to be) tired.

10. Open the brackets using Present, Past, Future Simple; Present, Past,
Future Continuous; Present, Past, Future Perfect (3, c.125- 130):

a) She (to go) to school every day.

b) Beth (to go) to school at the moment.

c¢) The lesson already (to begin).

d) He (to go) to school tomorrow?

¢) Tomorrow at this time I (to be) at school.

f) What they (to do) at seven o’clock yesterday?

g) Next Sunday he (to play) tennis from ten till twelve.

h) Where he (to be) now? — He just (to go) to the library!
1) I (write) the letter before you come.

7) I (finish) to translate the article by 10 p.m. tomorrow.

11. Open the brackets using Present Simple, Present Continuous, Present

Perfect, Present Perfect Continuous (3, c.125, 128, 130- 131):

a) Her children (to be) in the yard. They (to play) football now. They (to play) it

since ten o’clock.

b) She (to speak) English well. She (to study) it for five years. Listen! She (to

speak) English to her teacher.
¢) His son just (to return) home. He (to be) dirty. He (to play) volley-ball.

d) Where David (to be)? — He (to be) in the library. He (to work) there at the

moment. — How long he (to be) there? — He (to work) for three hours.
e) Why she (to look) tired? - She (to work) all night.

f) Since when they (to wait) for us? - They (to wait) for half an hour. We (to be)

late.
g) My sister (to drive) a car. She (to learn) to drive for two months.
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12. Open the brackets using Future Simple, Future Continuous, Future
Perfect, Future Perfect Continuous (3, ¢.127, 129, 130-131):

a) He will be hungry because he (not to eat).

b) We (to go) by train for two days by the time we get there.
¢) She will be tonight as she (to work) all day.

d) Brian (to have) dinner when mother comes.

e) They (to meet) us by the time they have to leave Ukraine.

f) She (to work) at school for twenty years by 2001.

g) My sister (to study) for five years when she gets her degree.
h) Don’t be late! They (to wait) for you in the cold.

13. Put the following sentences into the past (3, c.149- 151):

a) [ know that his father is a teacher.

b) We are sure they will recognize us.

c¢) She thinks that I am playing chess.

d) He tells me that his father was a teacher.

e) He is telling us that he has a good ear for music.

f) They say that they will be sitting in the second row.
g) Christine asks if we posted her letter.

14. Open he brackets using Future Simple, Future Continuous, Future
Perfect ado Future in the Past Simple, Future in the Past
Continuous, Future in the Past Perfect. Translate into Ukrainian
(3, c.149- 151):

a) He says he (to phone) me in two days.

b) He said he (to phone) me in two days.

c) I think they (to work) from two till seven on Friday.
d) I thought they (to work) from two till seven on Friday.
e) He is sure he (to finish) translating by the evening.

f) He was sure he (to finish) translating by the evening.
g) We suppose Beth (to play) the piano at six.

h) He understood she never (to forget) him.

1) I heard Nick (to return) by Sunday.

J) We knew he (to bring) good music.

15. Put the following statements into indirect speech (3, ¢. 154 — 155):

a) “I can live on my basic salary”, - said Peter.
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b) “We're waiting for the school bus”, - said the children.
c) The officer commanded: “Stay where you are.

d) “She explained: “We will go on an excursion tomorrow”
e) “No, I have no time”, - she said. (She answered ...)

16.Turn these sentences from the active into the passive (3, ¢.159 — 160):

a) They are sending Mr Smith abroad on business.
b) Our friends told us the news.

c) Nobody has used this room for ages.

d) The examiner will read the text three times.

e) We can't solve this problem.

f) She often refers to this book.

17. Fill in the blanks with the appropriate words:

a) Morale is an employee's 1) or feelings about the job,
about superiors and about the firm itself. To achieve organizational 2)
effectively, employees need more than the right raw materials, adequate
facilities, and equipment that works. High morale results mainly from the
3) of needs on the job or as a result of the job. One need that might be
satisfied on the job is the need to be recognized as an important 4) to
the organization. A need satisfied as result of the job is the need for financial
5) . High morale, in turn, leads to the dedication and loyalty in evidence
at Japanese auto plants in the United States, as well as to the desire to do the job
well. Low morale can lead to shoddy work, 6) , and high turnover
rates as employees leave to seek more satisfying jobs with other firms.
Motivation, morale, and the satisfaction of employees' needs are thus 7)
. Along with productivity, they have been the subject of much study
since the end of the nineteenth 8)

A. Intertwined  B. satisfaction  C. attitude  D. contributor
E. century F. absenteeism  G. goals  H. security
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b) Abraham Maslow, an American psychologist 1) best-known
works were published in the 1960s and 1970s, developed a theory of motivation
based on a hierarchy of needs. A 2) is a personal requirement. Maslow
assumed that 3) are "wanting" beings who seek to fulfill a variety of
needs. He observed that these needs can be arranged according to the
importance in a 4) now known as Maslow's hierarchy of needs.

At the most basic level are physiological needs, the things we require to
survive. They include food and water, clothing, shelter, and sleep. In the
employment context, these needs are usually satisfied through adequate

5) :

At the next 6) are safety needs, social needs, esteem needs.

At the top of the hierarchy are our self-actualization needs, the needs to
grow and develop and to become all that we are 7) of being. These are

the most difficult needs to satisfy, and the means of satisfying them tend to vary
with the individual. For some people, learning a new skill, starting a new career
after 8) , or becoming "the best there is" at some endeavor may be the
way to realize self-actualization.

A. sequence  B.whose C.capable D.need E. retirement
F.levels G.humans H. wages

c) Satisfaction and Dissatisfaction Before Herzberg's theory, the general
1) was that employee satisfaction and dissatisfaction lay at
opposite ends of the 2) scale. People felt satisfied, dissatisfied,
or somewhere in between. But Herzberg's interviews 3) him
that satisfaction and dissatisfaction may be different dimensions
altogether. One-dimension might 4) from satisfaction to no
satisfaction, and the other might range from dissatisfaction to no
dissatisfaction. In other 5) , the opposite of satisfaction is not
dissatisfaction. The idea that satisfaction and dissatisfaction are separate
and distinct 6) is referred to as the motivation-hygiene
theory. The job factors that Herzberg found most frequently associated
with satisfaction are achievement, recognition, responsibility,
advancement, growth, and the work 7) . These factors are
generally referred to as motivation factors because their presence
increases motivation. However, their absence does not necessarily result
in feelings of dissatisfaction. When motivation factors are present, they
act as &)

A. Words  B.assumption C.itself D.range E. satisfiers
F.convinced G.same  H. dimensions
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4.3 TecToBi 3aBJaHHS 10 CEMECTPOBOI 3aJ1iIKOBOI KOHTPOJIbLHOI PO00TH
(7 cemecTp)

1.Supply ‘the’ or ‘a/an’ where is necessary (3, ¢.204- 207):

1) People used to pay in ... gold.

2) What will ...weather be like tomorrow.

3) His aunt, ... woman of uncertain age, was also present at ... ceremony.
4) I couldn’t hear ... word she spoke.

5) This is ...safest way out I’'m sure.

6) There was ... air of excitement at the meeting.

2.Put a personal pronoun in the appropriate case or in the absolute form
instead of the noun in the brackets (3, c. 236- 237):

1) (Jane) told (Alice) to help (Mare and Peter).

2) (My father) seemed surprised to find (Alice and I) there.

3) (My brother) gave (Mike) a very interesting story to read.

4) Ring (1) up tomorrow.

5) He promised to give me his book, so I’ll not take (your book).
6) Your flat is much larger than (our flat).

7) She put on her coat and I put on (my coat).

3.Put the adjectives in the brackets in the appropriate forms (3, c.218- 220):

1) They were his (last) words.

2) She is my (old) sister.

3) They were having the (violent) argument I had never heard.
4) Your car is (large) than mine.

5) Itis (good) thing we can see.

6) He speak English (badly) than I expected.

4.Supply the correct reflexive pronouns (3, c.236- 237):
1) Jane prides ... on her ability to judge people’s characters.
2) Our new neighbours introduced ...

3) We amused ... playing football on the beach.

5.Supply the defining pronouns every, each, everyone, everything, all, whole
in the following sentences (3, ¢.239- 240):
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1) When the famous actress appeared, ... wanted to speak to her.
2) Nearly ... home in the country had television.

3) Here is something for ... of you.

4) You have been given ... opportunity to do well in this company.
5) The ... list is endless.

6) They had ... married a woman called Linda.

6.Insert some or any (3, ¢.239):

1) Don’t let ... one in. I'm too busy to see ... body.
2) When would you like to come? ... day would suit me.
3) ... thing tells me you’ve got ...bad news for me.

7.Use the correct Present (Simple or Continuous) tense form (3, c.125- 126,
128)

1 )These flowers (smell) very sweet.

2) The boy (swim) back towards the beach now.
3) He (leave) tomorrow morning.

4) You (think) he is right?

5) I (think) about his suggestion.

8.Supply the Past (Simple or Continuous) of the verbs in the brackets (3, c¢.126-
127, 128- 129):

1) We (not go) out because it (rain).

2) I (see) Helen at the party, she (wear) a really beautiful dress.
3) Jane (have) dinner when her friend (call).

4) What you (do) at this time yesterday?

9. Supply the Present Perfect or the Present Perfect Continuous of the verbs in
the brackets (3, ¢.129- 130, 131):

1) I (type) all your letters. The job’s done.

2) I (type) this report since yesterday and [’m only half way through.
3) Your mother is still in the kitchen. She (cook) all morning.

4) 1 (cook) a lovely meal which I’ll be preparing in a few minutes.

10. Supply the Past Perfect or the Past Perfect Continuous of the verbs in the
brackets (3, c.130 - 131):

1) I knew she (do) the washing because the machine was still working when I
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got in.

2) I knew she (do) the washing because when I got in she was ready to go to
bed.

3) We (finish) our work by seven o" clock last night.

4) I thought you (work) there for two months.

11. Supply the Future Simple or the Future Continuous tense of the verbs in the
brackets (3, ¢.127, 129):

1) Do you think you (still work) here in five years’ time?

2) At this time next year, I (write) my memories.

3) Sit down and fasten your seat belt. We (take off) in a few minutes.
4) I don’t think I (see) him tonight.

12. Supply the Future Perfect or the Future Perfect Continuous of the verbs in
the brackets (3, ¢.130- 131):

1) They (complete) the new bridge by the end of the year.

2) By the end of this week I (wait) seventeen weeks for my phone to be repaired.
3) Do you realize that on August 15, we (live) in this house for fifty years?

4) I hope I (finish) this report by the end of the day.

13. Put the following sentences into the past (3, c.149- 151):

1) Mary says she was here two days ago.

2) John asks them what they know about it.

3) He asks us where we will go in two days.

4) Peter thinks that I am singing an Italian song.

5) She says she was making a new dress for her daughter.

14. Put a possessive pronoun in the conjoint form or in the absolute form (3, c.
236- 237):

1) Ann has got five books, so I borrowed one of ...
2) 1 forgot to call my uncle on ... birthday.

3) This girl never puts anything back in ... place.
4) It's a favourite place of ...

5) I'm nervous about ... date with Peter.

15. Put an ordinal numeral (3, c. 233- 235):

1)She was ... to tell me the news.
2)Saturday is ... day of the week.
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16. Fill in the blanks with the appropriate words:

REINFORCEMENT THEORY
Reinforcement theory is based on the 1) that behavior that is
rewarded is likely to be repeated, whereas behavior that is 2) 1s less likely

to recur. A reinforcement 1s an action that follows directly from a particular 3)
. It may be a pay raise following a particularly large sale to a new

customer or a 4) for coming to work late.
Reinforcements can take a variety of forms and can be used in a number of
ways. A positive reinforcement is one that 5) desired behavior by

providing a reward. For example, many employees respond well to praise;
recognition from their supervisors for a job well done increases (strengthens)
their 6) to perform well in the future. A negative reinforcement
strengthens desired behavior by 7) an undesirable task or situation.
Punishment 1s an undesired consequence of undesirable behavior. Common
forms of punishment used in organizations include reprimands, reduced pay
disciplinary layoffs, and termination (firing). Punishment often does more 8)
than good. It tends to create an unpleasant environment, fosters hostility
and resentment, and suppresses undesirable behavior only until the supervisor's
back is turned.

A. Harm  B.strengthens C.punished D.premise E. behavior
F. eliminating  G. reprimand  H. willingness
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